
 

 

RAM = (RAMuser × No. users) + RAMinitial  

Where  

RAM〗initial = QVWsizedisk × FileSizeMultiplier; this is the initial RAM footprint for any application  

RAM〗user =〖RAMinitial × userRAMratio; this is the RAM each incremental user consumes  

QVWsizedisk = SourceData × (1 - CompressionRatio); this is the size, on disk, of a QlikView file  

Assumptions:  

userRAMratio: range between 1%–10%  

FileSizeMultiplier: range between 2–10  

CompressionRatio: range between 20%–90% 

No. users is the number of concurrent users hitting a system, not the total number of supported users. 
Example:  

SourceData  50GB  

CompressionRatio  90%  

FileSizeMultiplier  4  

userRAMratio  5%  

No. of concurrent 
users  

30  

QVWsizedisk = 50GB × (1 - 0.9) = 5GB  

RAMinitial = 5GB × 4 = 20GB  



RAMuser = 20GB × 5% = 1GB  

Therefore, the RAM footprint to support 30 concurrent users in this deployment would be:  

RAM = (1GB × 30) + 20GB = 50GB  

A more pragmatic approach is to understand the best practices techniques for using the various QlikView platform 

components to provide for a very large data size addressing while maintaining very fast user response 

characteristics. These techniques are detailed below: 

 

 


